
SPTA 

Block 6  

Revision Questions 

Show all working – No calculator allowed. 

        

1.  The diagrams below shows the four vectors a, b and c. 

 On squared paper draw the resultant vectors for:  

 a)   a + c (b)   2a + b 

 c)   3a + c (d)   2b + 2c 

 

  

 

2. a)             State the coordinates of the points B & D in this diagram. 

     The Pyramid is 9 units high 

 

 

 

 b) State the coordinates of all the vertices of this cuboid:  
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3. Find the resultant force for each of the vector sets below: 

 a)  𝑢 = (
2
1
2

) , 𝑣 = (
8
0

−3
)  𝑎𝑛𝑑 𝑤 = (

−5
5
6

)  (b)  𝑝 = (
−5
7

−2
) , 𝑞 = (

−5
−1
−9

)  𝑎𝑛𝑑 𝑟 = (
7

−1
3

) 

 c)  𝑎 = (
−6
2

−8
) , 𝑏 = (

10
−4
8

)  𝑎𝑛𝑑 𝑐 = (
−3
2
3

) 

 

4. State the components of each of the 3 vectors, a, b & c in the diagram of Question 1 above. 

 

 

End of Non-Calculator Section 
 

 

 

 

Show all working – Calculator allowed. 

     

 

5. Using the components from Question 4 above calculate: 

 a)   |𝑎 + 𝑏| (b)   |2𝑎 + 3𝑏| 

 c)   |3𝑏 + 𝑐| (d)   |𝑎 + 4𝑐| 

 


